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A 2.

S

15cm

6358.5 cm®

ull
KO

.l

>

15 x 15 % 3.14 x 9 = 6358.5( cm?)
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6. HUso NS i, 9759 41| Wols AL,

>
[> ®EH: 188.4cm?

(2] Ho]) =5x2x3.14 x 6 = 188.4(cm?)




oM

71%59] =°]7F 8cm
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2
il

oylo]7} 301.44 cm

7.

g T 0.
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BH o
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st

Dcm =

=
=
[ |x2x3.14x8=230144

A5 2ol

GEER

[ ]x50.24 = 301.44

6(cm)




ol 250l 20em )1 9715 2] 24 ol7F1193.2cm

® 10cm (@)9cm ® 8cm @ 7cm

2w, o] 7]

® 6cm

7159 2ylol)
(BYo]) x24 (FHo])olnz

o2 [ et 5w
10><10><3.14><2+2><10><3.14><|:|= 1193.2
628 +62.8 x| |=1193.2

62.8 x| |=565.2

DzQ(Cm)
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3cm
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> HMEHD 339.12cm?

~&B ‘
3 AAE 2O §E2E0] 3em, EO17F 12em Ql ¥7]F°] H
ek,
(97159 BHol)=(EH2 Wol)x2+(F4l)
(3x3x3.14%x2)+ (3x2x3.14 x 15)
= 56.52 + 282.6 = 339.12( cm?)
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11. e A7Ee] Se9] ZolE FaA Q.

Q

T--31.32ecm-

— =

» G cm

> ®E D 139.28cm

7cm

~&B

27152 AMEoA Qo] E <]
Zole} Z&UT,

(ANl 9] Hol)

= (AR Y 7t2)xd+ (A=)x2
=3132%x4+7x2

= 125.28 + 14

= 139.28(cm)




12, o2 A= 89 Aol 60.24 cm YU T o] AL E FHE0]7]
= 97159 2ole B em® dY71?

O

o

® 79.52 cm? @87.92 cm? ® 92.86 cm?

@ 100.48 cm? ® 121.88 cm?

(U] =)= (60.24 — 5 x 2) + 4 = 12.56( cm)
(U] 2] 5)= 12.56 + 3.14 + 2 = 2(cm)
(

=
X2X3.14%x2+12.56%5
5.12 + 62.8 = 87.92( cm?)

Zylo]) =




13. % 27159 $39] 245 T840,

[ 2
[> ®eh: 84.78 cm

(2% 47159 F1)

= 3x3x3.14x 2 = 56.52( cm®)
QEX A7|F9 7))
=3x3x3.14x5=141.3(cm?)
T 9759 Ful o] A=

141.3 — 56.52 = 84.78(cm?)

—~




1548 cm®

30x20x 12— (5x5x%x3.14x12)x6

7200 — 5652 = 1548( cm?)




15. 97159 AAwE Ba, 97159 dHolE Fohe.

>
> HEH 150.72.cm?

(F90])=3x2x3.14 x 8 = 150.72(cm?)




